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The said to him an Oshom Tohluy will prove — m921° 9190 2w 1 192K

OVERVIEW

The 2°10m rejected the 12°¥1 71 of »"1 from 7N to y1r (that since both by ym 201
there is a MoK of 17°Mn 2, so just as AN is 79°7W2 the same should apply to ynn),
since we find other cases where there is 17°Mn 93, such as M%n awX and nevertheless
you, >, maintain that it is 77122 and not 79°Ww3; indicating that 1NN 92 is not
necessarily a cause for 719>w. In truth, however the 0°»on maintain that »12n QwR is
(also) 7 wa. Our MooIn explains why indeed the 0°2211 reject this 12°%n an.

nooIn asks:
- N19°9YA DAY 1ININRT 19297 D929 DNYAN 12 Pyunvy 19%249Y NN

The X221 is astounded! According to the view of the 33129 who maintain that

an *172n owX (and oo Yy Wi NRLA) are to be burnt (if they are 2n1), so -
- 1n959Wa NINY 1M YN 139995 XY INAN

Why indeed do we not derive y»r from a0 that y21 too should be burnt?!

Nv0IN answers:

1NAN IT2ANRY NOYIYA NINAY PNDIN Y XDY N9V Zamman yny VNRYUNT PHN 129 99IN)
And the ' answers; that it seems to the 7127 to expound the p105 that only the
901 should be burnt but there is no burning for all other 7713w 1P99°X even
Y.

SUMMARY
The word 7M17 precludes comparing any 710°X (including y1rm) to 2ma.

THINKING IT OVER

We can seemingly answer that according to the 2°»51 we cannot derive y»nr from
IM1 since TN is an 22w MOR (it can never become permitted), however yan is
AMNT 7 1T anx> A, However 779 ' maintains® that 137 InxY ynnis n'"an “ox!*

! The reason the 1121 rejected the n"» was because of the 31, however since according to the 7327 there is no v
(for »Yon owx is 79°7w3), why indeed can we not derive y»an from 2011 (through a n'"») that ynn is 79 wa.

? The 109 (in 79,03 [XN] Nw) reads; X7 WP *2 928 K2 WR2 0137 DX DDIW) 927 Tv a1 2°Xena 2wan 0P ox).
The word 0117 is superfluous (for we are discussing 7n1) to teach us that only 2011 is burnt, but no other PMOR. See
the X3 on X,72.

? See bottom of this T1ny.

* See yww "1 and W K.
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